SECTION 2.6: MOMENTS AND CENTERS OF M ASS

1. Intro to Moments and Center of Mass in One Dimension with Point Masses
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2. For the masses and locations below, (a) make a guess about the location of the center of mass, then

(b) use the work from #1 above to find it precisely. ?
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3. Intro to Moments and Center of Mass in One Dimension with Continuous Density
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4. Compute the centet of Mass for a thin rod with density p(z) = 1222 kg/m assuming one end of
the rod is at # = 0 m and the other is at x = 2 m.
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5. Intro to Moments and Center of Mass in Two Dimensions

1 %0 massam= (°g. $Ddx
4- o 4l ()( Lj) O‘TM/ o
: -l/ - ; i( momu«# AK&_Q&\ Ax
a < about W - S X ‘C;,_’_J QSXKUAX
d&h$l""§ e, > Whils KD/m’" Iou-l—n mes
b
_ movient _ _
Want C)QU) chude x- = My = g& ’jﬁ‘)@d’( eg @)o&
[ocation mass >

6. Find the Center of Mass for the 2-dimensional regions below. Do you believe your answers?
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7. Center of Mass in Two Dimensions Again
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8. Find the center of mass for the region bounded by y = 5 — 2%, y = 1. Assume p is constant. Sketch

the region and see fyou answer seems plausible.
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